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called a linear combination
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· Suppose
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-
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Ex: Let = <0, 07
in 12.
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You just get every
time.

Since B
=G by def,

B is called a linearly

dependent set .
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Ex: Let = <1 , 2) in
12.
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What are some rectors
in

the span of B ?

They are of the form%



So some are :

3 = 3(1,2) = 43, 67

l .v =<1, 2)
- 2 . = -2(1 , 2) = (- 2,

-4)

and so on

- 3 =<3 ,6)
-

-

-↑-- =4
,2)

-

e

-2 = 5- 2 ,
- 4) ·

1 I
O

↳=
-



The span of consists of all
rectors on the line that I makes .
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-

-

E Let i = (60), j
= <0, 1)

be in IR? Let B = 55]

What are the vectors in the

Span of B ? These rectors

are of the form
->

->
c

,
i + (2)

So some examples are

22 + 35 = 2( , 07 + 370 , 17

= [2 ,3)



-1 + 1 .j= - (1 , 03 + 50, 17

= ( - 1
, 1

So
,
< 2 , 3) and <

-1
,
1) are

in the spac
of B =S , 53 .

- M 22 + 35

"·
Every rector is in the

span of B = SEE] because

if(a ,
b) is a rector

then

(a
, b) = (a, 0) + 20, b)



= a(1, 0) + b70, 17

= a + b-

&

Q: Is B =5 ,53 a linearly

dependent or linearly
independent

set ? Is one of the rectors

a linear
combination of the

other ?
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make i from
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That is
,
is E = c , ?
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?

I
I

S
M

No because this
would require

< 1
,
07 = 10 , 47



which would give 1 = 0

which isn't possible .

Likewise I is not a multiple

ofI either. that
is
, you

can't writeu
= 07

- E

The rectors are linearly independent.

-
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Ex: Let Y ,
= < 1

,
1) and

== <2 , 2) in
IP?

Let B=, z].

&: Is B linearly
dependent

or linearly independent
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Note that

i = 2

So
, i is a

linear
combination
S

Thus , B =Ed is

a linearly dependent
set.

-
-> -

Note V= Zu ,

can
be written

[ 2 - 1.=I
Q : What vectors

lie in the

-

of B = EFcEn]
?
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Some examples
of rectors

in

the span are



1 . F - 22= 1 . <1, 17
- 2 · (2,2)

=3)

2- Y +22 = 2( , 17 + 2(2 ,
2)

=67
Note any rector in

the spat

of B = S,23
looks like

+ (v = c , < , n
+ G(2 ,4

= [ , + 22 , 4
+2()

= (c , +2x)( ,
1

= (c +2) : E

So
,
the span

of B =S2]

is really just the span of

by itself.
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